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BOTANY
( General )
( Physiology and Biochemistry )
Full marks : 40
Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions/Choose the
correct answer : 1x7=7

O APTRT TeT fiwr/m Teacht Ay Svey -

(@) How many ATPs are produced during
Krebs cycle?

mm%wf%mwwwf%ﬂm?

(b) Anaerobic respiration occurs in algal
cell/yeast cell. ‘

ST ¥ ORI (/38 I vt A |
(c) Sterols are simple/derived lipids.
BITTR 551/ Borero v oqref |

(d) By which process a dry seed placed in
water swells up?

R fe wore “1fe < I A eFF By 9
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(2) (3)

(e} What is the name of protein part of 3. Answer any three of the following questions :
an enzyme? 3x3=9
T o oA wioh & @eet 2 @"ﬁgmwﬁm%ﬁmw%ﬁn

() Who gave the name Nucleic acid? fa) Write short note on various types of RNA
e <fkw S @i i 2 and their functions. )

" | ) ' fif¥w o993 RNAT Raa vy Grl o we

{g) Reaction centre P,y, is associated with Proes TfEE B

PS-1/PS-II. .

(b) Write down the names of various stages
of dark reaction. What are the first
stable carbon compounds produced
in C; and C,; plants during dark

RiEn &% Py, PS-1/PS-I1F A9 &S |

2. Write short notes on/Answer the following : reactions? :
=D fofi Rfdrm g™ 7 far 1 ffiw Ridmme
were AR vy (ot o/ Teg i ¢ Seom (@@ C, W C, Tfom 2w o I
! B 2

{a) Permeability of plasma membrane

() What is fermentation? What type of
(PRIELT (T bacteria take part in lactic acid
fermentation? Give an example of

commercial application of fermentation.

e &7 @fde ates [Fewe @R

{b) Importance of mineral salts in plant body

Sfen (rze 1S e 9y

{c) Difference between DNA and RNA : Q3 %Eﬁ 7 feer o qAEE eem
: Cwrzge T |
DNA (¥ RNAT %@ =123 FE
: (d) Describe briefly how rhizobium fix
(d) “Enzymes are one type of organic nitrogen in leguminous plant.
ot e L MW RACT @ Ao Tewe w1RE e
TR A G 439F (5 963 1”7 I I T OIF TD I 9 |
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14A—2500/1232 ( Continued ) 14A—2500/1232 { Turn Over )



114%)

4. What are carbohydrates? Classify carbo-
hydrates giving examples. 1+7=8

=91 7 Trraerie w9 eiiReres w4 |
Or / w\=31

Give an account on the structural level of
protein organization. 8

Ao SRoNETR S <Rz «f s 0

5. What is photoperiodism? Describe various
types of photoperiodism. Which part of the
plant perceive photoperiodic stimulus and
how does it transmit? 1+5+2=8

TeE afferm W R Rfeem offen @R
PR, I 90 | w1 wafz RiIEE SRe
A2 (I T (AL #9729 2

Or / 921

What do you mean by phytohormones? Write
brief note on roles played by various
phytohormones. Which hormone plays
significant role in flowering? 2+5+1=8
T =0’ et & o7 (7w «om Sfew e’
RS IE Y BRI o | e e Ry 2w
BT PR 2= T 2
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